Dezimalzahlen multiplizieren (mit 10, 100 oder 1 000) [1]

Dezimalzahlen

Aufgabe 1 Aufgabe 2

1. 695 « 1000 = 1. 244 + 1000 =
2. 620 - 100 = 2. 314 « 10 =
30233 « 10 = 3. 27 « 10 =
4. 857 e« 1000 = 4. 350 e« 100 =
5 633 « 100 = 5 830 « 100 =
6. 4,89 ¢ 1000 = 6. 813 « 1000 =
7311 « 10 = 7. 947 o 100 =
8. 640 - 1000 = 8 174 « 10 =
9. 947 « 10 = 9. 1,19 + 1000 =
10, 7,63 e« 1000 = 10. 555 e« 1000 =
Aufgabe 3 Aufgabe 4

1. 244 + 1000 = 1. 829 « 1000 =
2. 765 ¢ 10 = 2. 7,85 ¢ 1000 =
3. 132 « 100 = 3. 814 « 10 =
4. 482 « 10 = 4. 792 e« 1000 =
5 321 « 10 = 5126 « 1000 =
6. 4,78 < 100 = 6. 999 « 10 =
7. 659 ¢ 10 = 7. 823 « 1000 =
8. 756 « 1000 = 8. 4,72 -« 100 =
9. 638 « 1000 = 9. 764 ¢ 1000 =
0. 1,32 « 1000 = 0. 116 = 10 =
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Dezimalzahlen multiplizieren (mit 10, 100 oder 1 000) [1] |
ANTWORTEN

Dezimalzahlen

Aufgabe 1 Aufgabe 2
1. 695 1 000 = 6950 1. 244 1000 = 2440
2. 620 - 100 = 620 2. 314 - 10 = 31,4
3. 233 e 10 = 23,3 3. 2,77 e 10 = 27,7
4. 857 e 1000 = 8570 4. 3560 100 = 350
5. 633 - 100 = 633 5. 830 100 = 830
6. 4,89 e 1 000 = 4890 6. 813 1000 = 8130
7. 311 e 10 = 31,1 7. 9,47 100 = 947
8. 6,40 1000 = 6400 8. 1,74 o 10 = 17,4
9. 47 e 10 = 94,7 9. 1,19 1000 = 1190
10. 7,63 e 1 000 = 7630 10. 5585 1000 = 5550
Aufgabe 3 Aufgabe 4
1. 2,44 1000 = 2440 1. 829 - 1 000 = 81290
2. 7,65 e 10 = 76,5 2. 785 e 1000 = 7850
3. 132 100 = 132 3. 814 o 10 = 81,4
<. 482 o 10 = 48,2 4. 792 e 1 000 = 7920
5. 3,21 . 10 = 32,1 5. 1,26 o 1 000 = 1260
6. 4,78 e 100 = 478 6. 9,99 o 10 = 99,9
7. 659 10 = 65,9 7. 823 o 1000 = 8230
8. 756 e 1000 = 7560 8. 4,72 e 100 = 472
9. 638 o 1000 = 6380 9. 7,64 e 1000 = 7640
10. 132 1000 = 1320 10. 1,16 o 10 = 11,6
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